Moto-All.ru

CITMCOK OETAJIEY [1J1d "OIL COOLER ENG NO 267610" TRIUMPH

SPRINT ST

[WWW.OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75




CITMCOK OETAJIEY [1J1d "OIL COOLER ENG NO 267610" TRIUMPH

SPRINT ST

[/WWW.OEM.MOTO-ALL.RU/

TEJL.: +7 (495) 177-12-75

1 T2100756 CpoK 1nocTaBku 0T 27 gHEen OIL COOLER, 5 ROW, REINFORCED 1
2 T2101706 CpOK 1I0CTaBKH 0T 27 fHER PIPE, OIL COOLER, FEED 1
3 T2101716 Cpoxk nocTaBky OT 27 gHel PIPE,OIL COOLER, RETURN 1
4 T3205065 CpOK 11oCTaBKH 0T 27 fHER BOLT,HHF,LGHTD,M6X1.0X20,ENC 8
5 T3600071 Cpoxk nocTaBky OT 27 gHel O-RING, 12.6 X 2.4,0IL 3
6 T2101707 CpoxK nocTaBKH OT 27 gHEH BRACKET, OIL COOLER, RH 1
7 T2101708 CpOK 1I0CTaBKH 0T 27 JHEN BRACKET,OIL COOLER, LH 1
8 3020150-T0301 Cpoxk nocTaBky OT 27 gHel GROMMET 1
9 T3203222 CpoK 1nocTaBku 0T 27 gHEeN BOLT,HHF,M6*1*12,SLV 3
10 T3330625 Cpoxk nocTaBky OT 27 gHel SCREW,M8X12,SS 2
10 T3331625 CpoK nocTaBKH OT 27 gHEeH SCREW, BUT/HD, M8X1.25X12, SLV 2
11 T3600172 CpOK 1I0CTaBKH 0T 27 JHER O RING, 17.6X2.4 1
12 T2101650 Cpok nocTaBky OT 27 gHel GUIDE, HOSE 1
13 T3020031 CpoOK 1ocTaBKu OT 27 gHEeH GROMMET, 11.8%2.5*%10 2
14 T3010014 CpOK 1I0CTaBKH 0T 27 fHER FLANGED SLEEVE, M6 BLACK 2
15 T3205066 Cpoxk nocTaBkH OT 27 gHeH BOLT,HHF,LGHTD,M6X1.0X20,SLV 1
15 T3202020 CpoK moCTaBKH OT 27 gHEeH Bolt, domed, M6x20 2
16 T3330741 Cpoxk nocTaBky OT 27 gHel SCREW,BUT/HD,SKT,M5X0.8X16,S/S 2




